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Seating Arrangement Questions for IBPS PO Pre, IBPS RRB Scale I 
Pre, SBI PO Pre, Syndicate Bank PO, Canara Bank PO, RBI Grade 
B, IBPS SO Pre, IBPS Clerk Mains and SBI Clerk Mains Exams. 

Set No 119 
 

Directions: Read the information carefully and answer the questions given below. 
 
Six vessels were placed in a row. The vessels were named A, B, C, D, E and F. They contained different volumes 
of Milk from 1 to 6 liters but not necessarily in the same order. The vessels are differentiated with respect to 
following colors Blue, Green, Red, Black, Purple and Yellow but not necessarily in the same order. Consider all 
the vessels were facing north direction. 
  
The vessel F was third to the right of Black colored vessel. 
  
The Purple colored vessel had the thrice the volume of Milk as in the Vessel E. 
  
The vessel D was placed exactly between the Red colored vessel and the vessel A. 
  
The Green vessel had 4 liters of Milk and it was at either of the extreme ends. 
  
Total volume of Milk in the vessel F and the volume of Milk to its immediate right were equal to the volume of 
Milk in the vessel A. 
  
The vessel D and the vessel E were at a gap of two vessels. 
  
The vessel C was second to the left of the vessel having 6 liters of Milk. 
  
The vessel D had 3 liters of Milk. 
  
The Blue vessel had more volume of Milk then vessel E. 
 
 

1.  Which among the following vessels has 6 liters Milk? 

A. Blue colored vessel   B. Yellow colored vessel  C. Black colored vessel 
D. Purple colored vessel   E. Can't be determined 

 
2.  Which among the following vessels is placed 2nd to the left of Purple colored vessel? 

A. The vessel with 2 liters Milk B. Vessel C    C. The vessel with 3 liters Milk 
D. Vessel E    E. Can't be determined 

 
 
 



 

 

3.  How much liters of milk is there in the Black colored vessel? 

A. 1 liter  B. 2 liters  C. 5 liters  D. 3 liters            E. Can't be determined 

 
4.  How many vessels are placed between Yellow and Blue colored vessel? 

A. None  B. Three  C. One   D. Two             E. Can't be determined 

 
5.  What is the sum of the quantity of Milk in Yellow and Black colored vessel? 

A. 7 liters  B. 9 liters  C. 8 liters  D. 11 liters  E. None of these 
 
 

Correct Answers: 

1 2 3 4 5 

D B C D A 

 

 
Common explanation: 
 
 

References  
  
     1.   The vessel F was third to the right of Black colored vessel. 
  2. The Green vessel had 4 liters of Milk and it was at either of the extreme ends. 
  3. Total volume of Milk in the vessel F and the volume of Milk to its immediate right were equal to the 

volume of Milk in the vessel A. 
  4. The vessel D was placed exactly between the Red colored vessel and the vessel A. 
  5. The vessel D had 3 liters of Milk. 
  6. The vessel D and the vessel E were at a gap of two vessels. 
  7. The vessel C was second to the left of the vessel having 6 liters of Milk 
  
Inferences 
  
From above statements, 
     ●   The Milk in vessels A, B, C, D, E and F are 1, 2, 3, 4, 5 and 6 liters but not necessarily in the same order. 
  ● If Black colored vessel is placed at extreme left end, then Green colored vessel placed at extreme right 

end (Case-1). 
  ● If Black colored vessel is placed at 2nd from left end, then Green colored vessel can be placed at either of 

the ends (we get two cases-2 & 3) 
  ● If Black colored vessel is placed at 2nd from left end, then Green colored vessel can be placed at either of 

the ends, but the vessel F comes at extreme right end, by this it violates point-3. Hence this is not 
possible. 

  ● Now, the vessel D has 3 liters Milk and placed exactly between the Red colored vessel and the vessel A. 
From this, it is clearly observe that the vessel D is not placed at either of the ends. 



 

 

  ● With reference to 4th, 5th, 6th & 7th point, the vessel D can be placed in each case. 
  
  
In Case-1 :- the vessel D is placed 2nd from right end, then the vessel F becomes Red colored and the vessel A 
becomes Green colored. The vessel C is placed at extreme left end and the vessel E is placed at 2nd from left 
end, by this 4th, 5th, 6th & 7th point get satisfied (only possibility) 
  

Case: 1 

Vessels (North) C E   F D A 

Milk (Liters)          6   3 4 

Color Black          Red        Green 

  
  
In Case-2 :- the vessel D is placed 3rd from left end, then the vessel C becomes Red colored and the vessel A 
becomes Black colored. The vessel C is placed at 3rd from right end and the vessel E is placed at from right end, 
by this the immediate right of vessel F has vessel E with 6 liters. If we observe the 3rd reference point, it is not 
possible since the maximum liters in any vessel are 6 liters. So this case can be eliminated. 
  

Case: 2 [Eliminated] 
Reference point-3 Violates 

Vessels (North)   A D C F E 

Milk (Liters) 4   3     6 

Color Green Black        Red               

   
In Case-3 & 3-A :- the vessel D can be placed at either at 3rd or 4th from left end. But neither of the cases, the 
reference point-7 gets satisfied. Hence we eliminated the following cases. 
  

Case: 3[Eliminated] 
Reference point-7 Violates 

Vessels (North)   A D   F E 

Milk (Liters)     3     4 

Color        Black        Red        Green 

  
  

Case: 3-A[Eliminated] 
Reference point-7 Violates 

Vessels (North) E   A D F   

Milk (Liters)       3   4 

Color        Black               Red Green 

   
References  
  
     1.  Total volume of Milk in the vessel F and the volume of Milk to its immediate right were equal to the 

volume of Milk in the vessel A. 
  2. The Purple colored vessel had the thrice the volume of Milk as in the Vessel E. 
  3. The Blue vessel had more volume of Milk then vessel E. 



 

 

 Inferences 
  
From above statements, 
  
     ●  Note: Only case-1 is left to continue the arrangements. 
  ● With respect to the 1st point, the vessel F has 1 liter milk; by this its immediate right vessel D has 3 liters 

milk. [Given condition, Vessel F + Vessel D = Vessel A, we know Vessel A has 4 liters milk i.e. 3 + 1 = 4 liters 
milk. Thus the given condition satisfied. 

  ● From table, vessel B has 6 liters milk. 
  ● Remaining liters available are 2 and 5. 
  ● With reference to 2nd point, the vessel E should have 2 liters milk, by this the vessel B becomes Purple 

colored (2*3 =6, i.e. thrice the volume of Milk as in the Vessel E) 
  ● Finally, the vessel C has 5 liters milk. 
  ● With reference to 3rd point, the vessel D is Blue colored (Vessel D, 3 > Vessel E, 2) 
  ● Finally, Vessel E becomes Yellow colored vessel. Thus we get the completed arrangement as shown in 

table. 
 

Case: 1 

Vessels (North) C E B F D A 

Milk (Liters) 5 2 6 1 3 4 

Color Black Yellow Purple Red Blue Green 

 
 
Answers : 
 

1. The following common explanation, we get "B - P Purple clored - 6 liters". 
 
Hence, option D is correct. 

 
 
2.   The following common explanation, we get "[Vessel C] [B-Purple colored-6 liters and its 2nd left is 

Vessel C]". 
 

Hence, option B is correct. 

 
 

3.  The following common explanation, we get "Vessel C-Black colored-5 liters". 
 
Hence, option C is correct. 
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4.   The following common explanation, we get "Two vessels". 
 
Hence, option D is correct. 

 
 

5.  The following common explanation, we get "7 liters". 
 
E-Yellow - 2 liters & C - Black - 5 liters. Sum = 2 + 5 = 7 liters. 
 
Hence, option A is correct. 
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